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gnrescise-9.2:-
Solution -o1'-
pivisibility by 5 -
© A numbes is divisibl® by 5
digit 0 0 5.
pivisibility by 10:-

i£its Last (unit's)

A numbe is divisible by 10 ifits fast fanit's)

d_ia‘u'c 1S o,
> Facl, of the numbers 3125, yagqo ,lgo 35 and
4 500010 iS5 divigaible by § bﬁhey,{»‘as nome af bha

ambess: 56823, 1893213 18 divisible by s,

— FEach of thwe Nnumbeérs 4agmo /[ H 5000 1o divigible Ly
\o . tohese as none o the numbe s 3725, 7603 g

56%23,1893217 GSNINE1b1e by 1o,

Solution-02:-
pivisibility by 2%
A number @l divisible by 2 if its lagt (unit‘s)

Lvigble by o e, 1FiES last At 15 0,2,4 6 5rg

oivisibility by ¢

A numbel (6 divisible by g i its last two lunit's
ang ten's) diaits is divisible by 4
pwisibility by 8.

A nambar 16 divisible by g- if the bhe numie,

fosimed by 145 last thnwe digrts Cunit’s, hundyeds,
ten's) digits divisible Jbu e |



- Each of the mumbas 540lY,723¢8 4o,
53210486 dw:sal_-.le byd. T8¢z BSE:JDEE —Tgéﬂai“
o not divisit,
5 fad, of the Mumbes 1238 40, 6531088, 15689694,
ga210 48 divisible by y . Syoly, 186235 ase nol
divisible by 4.

— fach of te mumbas 123840 65321088, 52210498

divie'ble by 8. none of the numbes ggoly,
196235 915689604 isnot div: Ly g

solulion -03 - c
O

insibility by 37

A numbe 15 divisible e sumof its
Awvigibie by 3.

() Hese, the Sum y T+24+41) - 15, tohuch is
divisible by 3, s divisible by 3.

O Heae the SLAQ-F the djg'.rt:; 5+9 +G+3+I = i&
o hich 3&#%5&!9 by 3,
These fose 59031 1S divisible by 3.

() Hese the sum of digiks W2+3tursS4617146 = 36
o hich, = Cﬁ‘u’:lf"::' L le by 3
Therefore, 12345678 1 s Aivisiiale by 3,

() Hexne +the Sum of digite S+6+o0d134149:= 24
wWihich is divisible by &4.2.

Thesefore, 560319 is divigible by @



(V) Hee —E‘a‘n.xm of the digits Ty 210464 3ty = g
which s not divisible by %
Thenefose '"IQ.D‘EB'-; l.s hc,l- diuiﬂrnlble h‘:j 3
(v Wene, gum of diaits 3174241454049 =27
Sich 18 divisible by 3.
Thane fove, 23121509 (8 Advisible by 3,
pDivisibiliky by 9
A mumbey is divisible & :
i - sm 9 IFH]E‘E"'W:ED-FH\L
digits digits divisible byq,
¢y Sum of digits =167 mnot dJ‘Ul.ETE’EJ#a:q
() sum of digits =18; divisible By A.
be - 26; divigible, by 9.
vy Hum of HIIES 2g e'Wlivisible by 9.
guYﬂD-F 54'5;55 2 &2G 7;1;:.} Jdivisikle by 9,
Fola 9, divisible by 9

L) sum of i

(v
(w) Sum ot i gi

Solukbion-04.~

s duigiiite, By

14 cuvisibkle by n i the dif fesence of the
of the digits at the odd Places (staating from
place) ond € the sum of digits ak even places -

oneS
¢ ebonking tyom tens place) 1S eithen o or divigible

By 1.
cum o £ digits ok odd Placez = 14+4+2 =3
cumof digiks ok even placer - .0+2 =2 ,

‘theivy diff = 1\3-2 -5 dwisibkble by u,
Lexefo<€e, V\O42g 12 d_..l.U;E}-L;IE 'D';_‘,. 1



A Sum of the digits at odd Places:= 14+ 14+ 440 =\

cum of *he digits at even Places- atrtrqad s = V]

Their diffevence = V- 171 =o

esefove, 1069802 15 divisible by 1,

(W) Suwn oF the digits af odd Places = -2 +ang =24
Sum of the digks ab even pPlaces = (A6 +% =15

The'vr cﬁ-FFElﬂEncE = Bu-V5 2 q

Theve fove, 1136986 is ot duvisi 1",

Solukion -05% 0
[y divieibiliby b4 62 c’
A rumbey 1S dwisible by ® b ic divisible —

as well os 3. \
® A.

Since the unit &9,1«‘ € qiven Number ig 3 g0 the
awen number nNo v e by 2.
qag13 IS Aivisikle by &
oy Qaﬂqr.mv
Since the urit diaik N the Gwen huwmber 1S L S0 the give,
mumber 16 divi&ible by 2,
Sum of the digits inthe humber - 9 4+ 14 7+ 93444
= 27
Cowich 1S davisibleby 3
Cogviaugy s divisible by g
Y s03Y4126
Since the unit digit in e given number.is &, So the

F'wen number is diyigible by 5



Sum ofF ine digits m the gven Number = 54013+4+1ts
2

ohich 1s et divisible by 2.
Eoallng 18 dvisible Ly &.
fwy 901352
Gince Ve umih dight i lhe Byen OHITEE 182, Whick,
o divicibie by 2.
sum of the disits 1n the givern number

= Q4 1t34S5+2 40

= 8.

WhiCh S not dwvisible by 3

- aolz6L. 15 nob oavisible ﬁEQ

(v) €63a92l0.

®
aince Bme umt di?}“f\ae Aen Numbkey (S0

Lach 15 divigibleo

sum of the i A1ven num ke
=6+3+912 1140
= 91,
ok Aivicible by 2

WY ol @y,
cince tme Ln\t gt in the given number s 4,
which 18 Aivigible by 9 . '
cum of tne digits in the given numbes
- 749404 84y

o = 30
wich 1S dawnsklie by 3, -

19018y S divisible by &



Selution - of:-
(> For a number to b€ divisible by g, gum of itS digits
Shouwld be divisible by 9.

Sum of the Fien digits in 1ok g2
4+t 1 ioi812

= 8.
Tc weadd 55 't becomes an, which 18 divisible

v 9.

Theve fove, ¥ 16 to be veplaced by 5.

The nambey formed IS 47105 82, ok divisiyle

buy 9. 0

(i) Sum of the HNEW Argikts T h 356722
onmc—ms E b2 ga

Vs 36, LoWaCh 1S divisible

bLe TEP'lqc-EDL by 9 |
ig 1o H%aﬁﬂli Whick |

w4 4.
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@  G¥ 6172
Ehe S ok ::Ug?'rg tedcept 1Y = L ¥ES 41
= ".C!

. ) Bie amanest digit bhak we hovetoadd to
1q ¢ 2 toget 21, Lhich 1S divisible by 2.

T™e numbey formed e 140295, Whth is
T 4qLer -

divisible by 2



. The Smallest digit by wwch '+ e to be

rePlaced 15 2.
(> The gveatesk digit that W€ have to add+to 19 is
% to ge b 27, which 1S divigiblé by 2.
The numbex formedr 15 48672, OWCh Iig
Aivisible by 3.
§ . The g 9rveatest digit by wuwia, 'x' 15 to be
vYeplaced 1S 2.

(Y- Hasées.
iy Sum pbf the digits in 4175 L2 (81lcep b #)
=447 R e
- &{.{.
The Smallegt digit thak WE can add to &y s o
to et Qu, which is dinisikle by 3.
The numbey féxmedpis 47 5603

. The Smallesk Bioit by wwich, 'y’ s to be

vePlaced 45 N
cit) The ﬁ'rt‘qi:-zsl- disit thay we have to add to 24
i5 9 %o get 33, Which is divisible by 3.

e numbket fovrmed 15 QTSG‘?Z_

L The :afeai:esl— digil by tahick * is to Le

L |

YePlaced is'q.



golukion -08

(D S % qQUBY, ¥ Octcuys at even place.
Gum of digits at odd Place = 34913 =25
Surm 6§ WGiks at even place (except %) = 4+ 4 =8

Theiy diffevence

Ll

25-8
=i%

the A S51ES ak even places =6+Y41ty

= 18
Their -C;-;'FPETEHEE LSwn o f d.l'gft-

eVen Place -
Suw 0f digitke akodd qume’c

TREAY TN, wngey

151kve LYy 1, S0 tyak

d-l'v':f';ihlf 65 1"n.

.oy 5 g @
Numbey for w% LB Y.
e -

W

i Qe 52761
* prours ok 2V ;
Sum of dig ndd Ploce - 2% & =19

Sum aF A ot pven place = AT &S+ +2 = 23,
Fumnaly diffevence = 23 -9
= 1Yy.

TL % 15 wepvesented by 3, athen Sum of digits

ot even places - 246 +9

1l

|2
Their di‘{:'ﬁ'i'rﬁﬂm = D3 -l

= n, which s divisible by N Qo bhgy
the number formed divisibie by . '
'|*F 3 3

Nurdber  formed & 9353762,



Sg'l'u.l:iﬂh -09:-
0y 2% 4106 1 y
sice we uwib BEIE G5 the gen mwmbey 156, Bhch

duvicible by 2.

a% 4106 15 divicible by 2.

aits (edcept#) = &+L ¥4+ 0 F§

the sum of the A %
digit that we add to 19 tojet s

1y twe Smallest nur ber
gy 1S divisible by 3.

15 Q.
‘e numbey foxmea 1S 2247706
to htPhced

1
. e Swallest digit by Whkich &

& -

. @aayiob IS Adivisible by s.c’c

Gid e 9Yreatest gt 'rha.i:‘ﬁ.dd to 19 iS 8 to Jetaq

which @ 18 divisible by
tne number %crn.x 284706, which (g divigille

by 3.
. The Qreat AL by which 'k 'is to be yeplay

12 B
) ic divisikle bY &

by 6885 %34,
gince the umb digit in 4he qwven numbey ig 4 tdhich

'S divisible by 9.
the d.iail'ﬁ [e:.caph £ = 5'+'i51—i+5f:3+!,

&21.

Lwe add to 217is o to Qek 871

tme Suwm of

f

¢y bhe Swallest disik fhat

Witk 16 divisible by 2,
the number {ovmed (5 sgigozy ,wuick Is divisiye

by 3.
the Smallest digib by WO, AT toveflaced is'y



W the gveqkesl digit thal we add to 21 isq {0 gop

26 towWCh S diwisikle by 3.
¢

The number forymed $82593Y , which 1S diVisible by,
e cgﬁea#es\: numb®l 5815934 '€ — 9, whick 18
divisible by €.

Solution -lo02-
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AS \o¥l0 = 100 and W

iooZ ol 4 217101

ﬂ_‘i“ = 2\

co 10 15 the Loogest humber Such ox\o £ 1o\ .
= F"r"x"ﬂe numberye LSS bhan o Ei@n lo ane
ﬂ|315 7

°2 0
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Theve{fove, ol 1S ﬂf;r‘n mber
Yy A5t x
AS IS%IS :hﬁ$$qnd Ve%16 = R56 27351,
gl

cp 'S 'S vgest number Such thak 15x15£ 251,
T™he Pl less thman O©Y €9ual to IS qre
©.,3,5,7, and 13,
Hoke thak 2,2,5,1, V' and 13 ane not '{:ﬂ'ﬂ{‘hr:s
fovy 2=l
herefore, 251 1S a Py¥ime humber |
LWy 3284
AG 1T 10 8892 329 and \@¥'6 =324% 323
S0 11 1S the langest number Such bhak 1TxV1<L %3
The Prime numbexs (egg imn?ﬁﬁaﬁtaQ,g,sjmn,ﬁln_

823 is divisivie by V1 g6 2., e hot a

Pyme marmber:



Eiencise- 9.2
Solukion -0 1%-
alin

Numbes ane -1, 5 andg .,

The erpyession, foxmed fyom e Jiven nurber
Batisfymg the given <onditions avye s

S+ 18, S4+83-1,EBFE0-1, Sdlg+1)

\n fockt, we Can form mMore EAPTSERIONS Salish,,

Solwmion-o2 - ‘ ’
. _ ® _
B4 cbserVing tne ﬂwt&\e‘ Vakion,

oy and (Vi) ane s only

the given <ondibtions

GO, vy, ), v) oae i "-5“’-':, Purmmbeys elc.

Eolm}:iﬂh“Dgl_
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GYVY  dvision. P divided Ly g
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froam the Pvoducksa



LV muﬂ:‘lplica}cicn and addition b

fisct ™ roulkiplied by -1 and *rhen?g added

Lo e Fﬁrnd.uc L.

e Aivision and subtrvackon first * dividled by

2 and then S Subtracted fYom the Guotient

Solution -04 -
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Pt
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gl -2 i:
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B
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ZL,
S
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Solkion -5+
Expreofions fos the following

iy W added to 2m

2y I

w1 cubtvacked f¥om 2m

2 =)

Loy B oddec %o s times Y
= LTmEes by =gy

sS4 432
Gvd) 3 _Bulbffrlcl:tei fvom S timegy
N

(VD Y s mulkiplied by -8 and %’\Sadded to

®
Lo Seculd \‘b
—8Y +5 ® %

(Vi) Y P LY and then then e
Sesuld gubby fsom 16

Y
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go\ukioNn ~0 6"
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=N
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ewY T Laken away f~om Y

Mobhg madicak Form

s S
() B lesd tean the quotient OF 2t by 4
L memlr?cai form)
.
Solution-o7 .-
The ewpveshions fosmed Prom the given numbers

cokistvingd the gwen condikions a¥e:

paly, ol - rE 4 T 0
_{_1 .

&, ok, WEe eaw toFn By LpTers iond SakisLying

12 Awen conditions. \:

Solution-08:- x
e expressi Qmed from the given Aumberg
r\dil.-;ﬂ"f'lﬁ one

cotisfying the qw

—01,1 2, Y,
2y, ﬂQ 4=, BN 3q ..

tn Loch We can Fovm mMove edpregsions SakiSfyirg
the given conditions .
solution-09:-
sludent <Sroved moaxs in E'rﬁl.:&h = ol
deducted masks for hand Wribing - 4
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solution —10.-

Raju's Presa-ﬂ- Age = Y gears

Raju's father Age- 3 (Raju's Aged + & Yeas

=34 +2) Heans

golukion-it:-
Mowivi's Age nekt yeod =3(AED .
Mokivxl‘f* d.%{ 3 yean s @go = 413> Ye
At Age of Mohini's uncle | iF NS
"mes S old as mMohind il Le

= 5 (A Ll gems

1) thoee times
6y foun himes
cany the Prese
uncle 18 S t
twao Years fyom N
(v the present A9 oF Mohin 'se eunin, it hes
coudn 15 2 yeans €55 thar, onRe thind of

e age Fve yetp e (4009 2yen

Solubion-12%

Lenghg SebF ok
Bread b = Lenghh - 10em
= 5h- 1D m

Solution-13.5
Zus ¥x aveks in J'ID'LLH 2 ViEm.

i gk ante between lasPun and delLhi
- 6(V Em) } okm |

= &Vt aokm



Solukion - 145

¢5y T™he cost of a book 1S 3 Emes the cost of
a nole kook.

O The cost of ofl PA pe Lit¥e 16 & times the
cost of =ice Pes Bag .

ciy The Gpeed of @ bus 1S 10 km perhous more

Yhan the oSpeed of the twuck.

() Tony puds 9 moakleS on H.e table He has

a9 manbles in s box .
Wy oun class has n students -’\'\'&al has
don skudﬁniﬁ- 0

tid Raja s uncle 18 4 times QIGET than ko and

'i“ni5 mj,,ﬁ'l:' :IS Btj'ﬂ
() The lotal Aum bef

sumbal of Sjows @

‘QQ

an 5 Youn an s uncle.

ls 15 5 times the



glevcise -9.4.
s5olution -o\'~
) 4>z fryry
= 6%y

=89
vy (-6 = (~6) £ (-6) XE6) X (-6)
- BEURE

= 1296
cm %)"1: OALOIRDI XL &
3 243 x3A3 Q
o 413

e %\‘b

= o

eV {_1‘1 ‘H’EJ 6 o x-24A 55
0 (-2) L2256
Q-- BXSp

= - 400

solukion -o2.-

Ciy BR AL
Subelitukng M=3, B=2 iN the expregion
wegel 21128 =313 R0

=y
=13

Za12yY =13 .



(D 5L -3Y
aubstitubing 2 =Q and Y= -5 in the given exPression
we gel -
E4-3yYy = S50Q)- 3(-5)
= S5%2-(-15)

= 0+ 15

=25
(w asal . g¢.

Euhg,{:ﬂ:*-d-“na =z, b:-'& Q,“d--_C:I i Eji'«"en
ex pression we 9ek . Q

a¥2bk-8c¢ 942 C-3)-5 )

L3

o et = s

z"ﬁ

TV) ap+ 29 +
substituting é 7 21 and v:-3

SP439 + =R A3 A A2 A(3)

= -avk 12+ (-85

=gl o it e

i

"

= 10

. aP4+329 ¥4y +Pg9y = 10.

(vd 3ab + 4bc-5ca
cub shiduting &= 4, b=5 and ¢=-2.

gqb—l-f-f be - 5ca = 3y)ts) ¥4 (5)(- 2) = Sf'ﬁljf‘l)
« grao) +y (1o)X~ 5(-8)
= Lo 46 4o
= €£o



sSelubion - 03 -
() an*-34 vy,
Subokituling A= 2 in the Jiven expvestion
QAr-231 44 = {ﬂ}t&f’-zlll y = B +4-¢ e
T2-g
=€

[ adaus =gl

e T

) La>- g ar
g Az N e 9wen exPy

‘fqt,'-", i - 6ht1 = H t?.‘:"" 5 o
. 4 (205 b
@
3 ‘D@f‘g}"}

63




eiwd Aal=EAR ¥ TS
lubing a =-3 in the given eaprersion

subeH
we 9ekb
.
2 c—g)"—sc-z)3+ﬂc-3)-3 .. SRS E-EER)
LA -3

_lg2 - 5€a3) —&|-3
_ |62+ 135 -2H
= le=2 + il
= 973
AL Lwon -o4 -

ey 6- 1%

Subg\—ibu}:i\r\S =5 P "—"’\e@g
pap €55 ON 2 we 3@‘

= 6‘7C5;—

m*%;.\oj -]

g~ WaT

() e
gxAer 1O . 3+ %) 71
- 3(25) }+yo-'0
= 15+30
= 408 *

3
G - ya—grt 25 ¢ A=5
2 (63 -4(5) - 6(5)+2S.

ax3-4x>—6ntras

1}

2N Ua.s)-qc.:zs) -30+R5
- @aso- 100-30+25

= |45,



Solukion ~08 -
) By Subsh tuking the given vodues o=z, Y=3
o s abwn THN the given €xPrexbions we get.
a™m = S

ATY =

(i W) (2>

- &
p——
-1

cwy 2AF3Y-4z a:znzu}—qec

Sa-2 =(2) - ()

Golukion-06:- Q
&iven Empve? S
o*y b>+E - aab-abe-Acadzabe.
By subskituking the valuer

oc AN = 3 and c=-3 in the 8;\/61') € ALT V5 ONng
we geb. -

O«"’+‘om+cL.—9_qL—&bc -Qca+3abc =

-

Py ¢35 (- = a.C2)a)- 2l3) 2 +3
(2)(3) -2) -2 (X-2)

- Q4iq+ 428 - T2+ 3 (1) + 8

- 1M-264+ B



Solukon - 07:-
Given Exprexion s = PP+ - 3Py
ey aubskitukind P=y,9:-3 and ¥=2, we gel.
P24 g > -3 Per = (Y b (B (2B LU ) (2)
= 644 -21)Y- ® - (=712)
e 64 +712-35
= 64137

- |O|.
Solukion-08!-
ven Ewpxez.f:.n‘on s Etrnn{'b [ 5 nY
2y Buljgl-;l;LLLth Mmoo, T2 and MESEL_L
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